Reminders 10-06-10:
-1 Won't be Here Friday.
=Turn in "Work" Worksheet Today

-Quiz Today on Work and Conservation of Energy
-Exam 2 Ch 4-6 Mon. Oct. 18

Objectives:
-Conservation of Energy

-Conservative and Non-Conservative Forces
-Quiz
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Consider the track sport of the high jump.
Assuming a running start of 10m/s and a
maximum standing vertical jump of 60cm,

estimate the maximum height that can be
achieved in the high jump.
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 Two railroad cars, each of mass 650(
traveling at 95km/hr, collide head-o
and come to rest. How much energy

lost? where does it go? Hint:You m
consider both cars.
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